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Question Number : 1 Question Id : 70819120014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819165191, IM LT 7]

g0 ]
70819165192. Lot

/ 1
70819165193. Sl

12 2
70819165194, | M7LT 7]

Question Number : 1 Question Id : 70819120014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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70819165192, | MOLTY]
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70819165193. LA™

2 2
70819165194, | M7LT 7]

Question Number : 2 Question Id : 70819120015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165195, Both A and R are correct and R is the correct expla_natmn of A.

70819165196. Both A and R are correct but R is NOT the correct explanation of A.

70819165197. A is correct but R is not correcL.



70819165198. A is not correct but K is correct.

Question Number : 2 Question Id : 70819120015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 70819120016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal vc-locit}-' is itwc-rsc-l}-' pmportional lo its velncit}-'.

mYN® >

to follow a trajectory such that the areal vDIC}Cit}-‘ is constant.

Choose the correct answer from the options given below :

Options :



70819165199, “* O

70819165200, © °nly

70819165201, 0 only

70819165202, = only

Question Number : 3 Question Id : 70819120016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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70819165200. s

70819165201, 7o D

70819165202, ¥ L

Question Number : 4 Question Id : 70819120017 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \fg R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M

R R

X | R Y
Options :

70819165203. =/  R°

\,f_{ﬂ GmMh
70819165204, ° R
1 GMhm

1 B
70819165205, V8 R

22 GMm
3 R2
70819165206, - R

Question Number : 4 Question Id : 70819120017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165203. =/  R°

\,f_f{:f - GmM
70819165204, ° R
1 GMhm

- 2
70819165205, V8 R

22 GMm
3 R2
70819165206, - R

Question Number : 5 Question Id : 70819120018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘'m” and radius ‘a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options :

._1 Y g )
g ma~“ + 2mb-
70819165207.

B
—maZ+ 2mb?
70819165208.



g maZ + mb?®
708191652009.

)
—ma-
70819165210. 2

Question Number : 5 Question Id : 70819120018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

4

E maZ + 2mb?
70819165207.

—maZ+ 2mb?
70819165208, °

% maZ= + mb®
708191652009.

)
—ma-
70819165210. 5

Question Number : 6 Question Id : 70819120019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is ], the rise in heat energy per unit
volume will be :

Options :



Jix R/
70819165211.

_Elfl_ i3
70819165212, ) ¢ R/

70819165213, '

T
]
70819165214.

Question Number : 6 Question Id : 70819120019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
aTr1 1 ~|
iz KR!
70819165211,
3T(1 \
70819165212, ) T R/
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70819165213,
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70819165214, "



Question Number : 7 Question Id : 70819120020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
oP
70819165215,

70819165216.

70819165217.

70819165218. P

Question Number : 7 Question Id : 70819120020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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PK
70819165218. P

Question Number : 8 Question Id : 70819120021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

70819165219, &

70819165220.

70819165221.

Question Number : 8 Question Id : 70819120021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819165219.
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70819165220.

70819165221.

Question Number : 9 Question Id : 70819120022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 0, (as shown in figure) is given by :

...... 0
R, -
""" f
R :
0,
Options :
0;R, + 0,Ry
70819165223, K1t Rz
0;Ry + B,R»
70819165224, N1 T Ra
70819165225. g B
0,R, — 0;R;
Ry — Ry

70819165226.



Question Number : 9 Question Id : 70819120022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
0,R, + 0,Ry
70819165223, R1t Rz
04Ry + 0,R,
70819165224, J1+tRa
70819165225. g
e Y
70819165226, 2 Ri

Question Number : 10 Question Id : 70819120023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R, Its time
period of revolution will be given by :

Options :

b3 |

T o
70819165227.
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70819165228, | * R

70819165229, T=R?

b |

TxR
70819165230.

Question Number : 10 Question Id : 70819120023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819120024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :



Options :

70819165231.

70819165232, *

pi

M| =

70819165233.

)
70819165234, *

Question Number : 11 Question Id : 70819120024 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819120025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

s : 3
from the centre of the rod is a= — L.

o
& a EE
| - .
0 P
vlo
Options :
Q
S LE
70819165235, 70
Q
—l-’:TE.[} |_.2
70819165236.
30
4mrey 12
70819165237,
O
=y . 2
70819165238, V- Teo L

Question Number : 12 Question Id : 70819120025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C,, withC,> C v when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

.Cp_
series. Calculate the ratio of capacitors, a
Options :
2
70819165239, 1



15
70819165240, 11

15

70819165241, 2

i

70819165242, SV

Question Number : 13 Question Id : 70819120026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

29
70819165239, 1°
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70819165241, 2

111
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Question Number : 14 Question Id : 70819120027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be :

Options :
= |
= iy + i2)
70819165243, V<

1 (i, + ip)?
= " 2
70819165244.'J§
' 1
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70819165246, 2

Question Number : 14 Question Id : 70819120027 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165243, V2

70819165244. V2

1 [.2 2
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Question Number : 15 Question Id : 70819120028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

D
R
R R
R \;\ B
E “ﬁ“ C

Options :

2R
70819165247.

m|x~'

70819165248.

70819165249, K

R
.

70819165250. =

Question Number : 15 Question Id : 70819120028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819165248.

70819165249.

3R

70819165250, 2

Question Number : 16 Question Id : 70819120029 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819165251 Image is virtual, opposite side of concave mirror.

70819165252. Image is real, same side of concave mirror.

70819165253. Image is virtual, opposite side of convex mirror.



70819165254 Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options:
70819165251, Frater= A B, FR HA9de <90 % Uvd % faudid 2

gfafara arafas & 31 sade 29 % 9ed 1 37 2|
70819165252.

20819165253, gfefaea 9t § 317 39 €90 % 919" & (a9 2

20819165254, e ST & S 3T TU0 F Wed Fi A F|

Question Number : 17 Question Id : 70819120030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819165255, | mm

70819165256, U720 mm



70819165257, 0.50 mm

70819165258, U-22 mm

Question Number : 17 Question Id : 70819120030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

77 3 Tt T w3 2 i & <= 99 2 m 7901 @ 1 5 § 98 v F2 21500 nm

TOTEA & W ST FH T - Yo B

Options :

70819165255, | mm

70819165256, 072 mm

70819165257, 0.50 mm

70819165258, U-22 mm

Question Number : 18 Question Id : 70819120031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A ¢ An electron microscope can achieve better rosolvmg power than an optical
microscop e,

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavc-lc-ngth of visible Iight.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819165259 Poth A and R are true and R is the correct explanation of A.



70819165260. Both A and R are true but R is NOT the correct r:-xplanation of A.

70819165261. A is true but R is false.

70819165262. A is false but R is true.

Question Number : 18 Question Id : 70819120031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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20819165259, A R = &l € 991 R SAT9FH9A A =1 921 =9e 2|

70819165260. A SRR 21 W& & W R Af9HY A F1 HEl =re 1@ 2

20819165267, A T € T R W& 7

70819165262, A T8l T & T R W& €|

Question Number : 19 Question Id : 70819120032 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A; : A, is ;



Options :

70819165263, 7 : 108

70819165264.

70819165265, 1+ 3

70819165266, +  °

Question Number : 19 Question Id : 70819120032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819165263, / : 108

70819165264, * °

70819165265, 1+ 3

70819165266, 1+ °

Question Number : 20 Question Id : 70819120033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Ts and c=3x10% ms 1]



Options :
70819165267. 654 nm and red colour

70819165268, 054 nm and orange colour

708191652609. 1046 nm and blue colour

70819165270. 1046 nm and red colour

Question Number : 20 Question Id : 70819120033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl LED %t ST Ga-As-P 3= a1l § %1 Tt 8 991 59 LED 31 el 50 1.9 oV 7
T IO YT S OIS ST A A B

[h=6.63%10"3¢Js T c=3x 108 ms~1]
Options :

70819165267. 654 nm FW A1A T9

654 nm R TR 07
70819165268.

70819165269, 1046 nm SR e =i

1046 nm FE A G0
70819165270.
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Question Number : 21 Question Id : 70819120034 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction 35 The critical force to be applied on the vertical surface as shown

at an angle 60" with horizontal such that it does not move, will be 3x. The value of x will be

g B e
[g=10 m/s~; sin 60°= T,cos 60" = E]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819120034 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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[5=10 m/s*; sin 60°= —=; cos 60°=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Em

Question Number : 22 Question Id : 70819120035 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—

A bO}-' pushr_-s a box of mass 2 kg, with a force F

[f the box was initially at rest, then _
10 s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

{ \

20i+10]

N on a frictionless surface.

4

_ m is displacement along the x-axis after



Question Number : 22 Question Id : 70819120035 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120036 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ s2 will be
__N. [g=10 mﬁsz]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120036 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819120037 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 IN.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120037 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

el W T 6 W Ui s 5o 0,135 o/cm ¥ | 59 AR H IS ST 01 30 2l ¢
ot foren TR = —0.21 sin (x+301) 5 o T 8, 7@ x WX & qon  FEve H ¥ W
TR H A T ax 102N FAR 2| (Fedw S i o)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120038 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120038 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fordt et 1 fawas g @ SRl § fawfom fen T 81 oW e SR @1 @
45 X S A TR 1 AAT 5.5 T & | ool IR H 2.0 TEHvSAT 9| T 3.0 Wit 991 T
FH 3,0 AU T R 4.0 9 T o | e $1 g2 aon fagw & ure w5 feafa § an
R A rx10 lam 3 AT FWI

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120039 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
fieldat Pis x x10"1V/m. Value of xis . (Rounded-off to the nearest integer)

[Take &;,=8.85x10 RCIN"1m"% ¢=3x10°ms™]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120039 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1000 W 3 5 51 Scafard 1g faf 2 m g0 W fed faelt famg P 975 farga 6 iR geaei
817 3 F1 €| 59 e F 24 1.25% 21 fag P o o foRpd 49 W xx 107 V/m B
WxwAEH Bl

6p=885%x10"12 CZN "1 m~2 3R ¢ =3 108 ms ™ i || (Feem Genfam quis o)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819120040 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819120040 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

feptt forea Wit ¥ waifora fareft et o witaw ¥ fareft faw 0 ooy & 20 C 31 <9t wanfen &
TN T A F Qe & A 15V TR T e | g Sl gr R e e

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120041 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

I .
Dy 1300
> AN
" 100 0
N W
| 1200}
| | AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120041 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A H i T 9y § 9 e, o yed w1 o wied 50 O 99 A iy o g

el e A AT o VE M0 QT m@Ed e mA T

3‘ 1302
1] "y

D, _

2 100 )

Il::] AAN

| 1200

I= AN

6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120042 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x x 10~ 2 The value
DL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120042 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

forell T HiEfera i % sifersam SR Frered SR 5 AE FE9: 16V RS V E a9 9 e
TEfeR T F AGeH g ax 10-2%] WMy FEA . Fm

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819120043 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120043 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tt Aoft LCR <19ATS W09 1 01 e 100 991 7T B | 4S5 e § Wi 1 < T T8
A1 s F 2T FA A 90, AW A & W g FAM ERE @
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 708191876
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911156
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819165281

70819165282, 4d
70819165283, 4!

70819165284, °d

Question Number : 31 Question Id : 70819120044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FOF T A B I AFVEAZE, T
Options :

70819165281, P
70819165282, 4d

70819165283, 4f



70819165284, ~d

Question Number : 32 Question Id : 70819120045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819165285, Both A and R are true and R is the correct explanation of A

70819165286. Both A and R are true but R is NOT the correct explanation of A

70819165287, A i true but R is false

70819165288, A 1s false but R is true

Question Number : 32 Question Id : 70819120045 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F4 2 For fau T F | ATURIA A AR FWOTR |

FUFIA A : 51 Tyopa-Toora Torardl 1 et 3 o1-wewiarell s o # fomren oo ey

AT A FRfa 2 2

TR : WA Heliferer fere-saomeses o & o HF 8 2Igeior e o & |

IR el & Heel | A fau T fased | 6w I g

Options :



70819165285. A TR EH 9 ¥ SRR HE TS E A F

20819165286, A TR T T & T R HEl =0 FE & A A

20819165287, A T € Tq R 370 &

20819165288, A ¥ & T R ¥ &

Question Number : 33 Question Id : 70819120046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
Electronic configuration AH in k] mol -1
of elements
(a) 1s22s2 (i) 801
(b) 1s?2s22p? (i) 899
(c) 1s22s22p3 (iii) 1314
(d) 1s?2s%2p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :

70819165289. (@) — (1), (b) — (iv), (¢) — (i), (d) — (ii)

70819165290, (@) = (iv), (b) = (i), (¢) — (ii), (d) — (iii)

70819165291. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

20819165292 (@ — (D), (b) — (iid), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

-1 9 F-11 F1 g5 HIfag :
-1 -1
el T Fela (1-eh Ta=Imd AH (kJ mol~1)
(a) 1s®2s? (i) 801
(b) 1s2 252 2p? (i) 899
(c) 1s%2s? 2p3 (iii) 1314
(d) 1s? 252 2p! (iv) 1402
== feu T fasedl § 9 maifys 3fEd 3™ g ;
Options :

70819165289. (@) = (1), (b) — (iv), (c) — (ii1), (d) — (i)

70819165290, (@ = (), (b) — (1), (¢) — (i), (d) — (iii)

70819165291, (@ — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819165292, (@) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(Ore) (Element Present)
(a) Kemite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :
Options :
70819165293, (3) = (i), (b) = (1), (¢) = (i), (d) — (i)

70819165294, (@) = (iii), (b) = (i), (¢) — (ii), (d) — (iv)



20819165295, (@) — (ii), (b) — (iv), (c) — (i), (d) — (i)

70819165296. (a) — (1), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 34 Question Id : 70819120047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hl-1 9 Hl-11 T FHA HITo :
-1 TI-11
( 3TTE=E ) (ded)

(a) FHTAEE i f==

(b) FHfmeTEe (i) =RE

() THerHTEA (iti) TFAAEA

(d) e (iv) To=n

L

= fou & faseui § F waifas stEa s g
Options :

20819165293, (@ — (i), (b) = (i), (€) — (iv), (d) — (iii)

70819165294, (@ = (iii), (b) — (i), (¢) — (ii), (d) — (iv)

70819165295, (& = (@), (b) = (iv), (¢) — (1), (d) — (i)

70819165296, (@ — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :

70819165297, 4+ and B only

70819165298, “+ and C only

70819165299, ‘*and D only

70819165300, ‘% Band Conly

Question Number : 35 Question Id : 70819120048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e I e A T e e T E

A. IR @ % 3w At AtiiEmE ga atiiEme s G e 1 aea w9 F o
fofe T &

B. el % WA S5 S99 § WR el dan fa o

C. MWW T F STl 9 el 1 Faoieh e 8

D. D,0F a0e H,0 %1 VI 3 &

9 fau T fasedi § 4 waifas 360 3T g :

Options :

70819165297. A B

70819165298. A #RC FT

A FT D Fae
70819165299,



A, B 3N C Fad
70819165300.

Question Number : 36 Question Id : 70819120049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH;+ A +CO, — (NH,),CO,

(NH,),CO,; + H,0+B — NH,HCO,
NH,HCO,; + NaCl — NH,Cl1 +C

Options :

70819165301, A H20 ; B=0;; C—~Na,CO;

70819165302, ‘120 7 B0, ; €~ NaHCO,

70819165303.

70819165304, G : =

Question Number : 36 Question Id : 70819120049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= A=Al § A, B 991 C =1 gfg=ni ;
(NH,),CO, + H,O+B — NH,HCO,
NH,HCO; + NaCl - NH,Cl+C

Options :

70819165301, + HO 7 B~ 0Oy €~ Nay(O;,



70819165302, A~ H20 ; B~ 0O, ; €~ NaHCO;,

A~H,0 ; B~CO, ; C—~NaHCO

70819165303. 3

70819165304, 22~ O27 B~ C0z; C~NaCO;,

Question Number : 37 Question Id : 70819120050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C ompou nd A used as a strong nxidizing agent is amphotoric in nature. It is the part of lead
storage batteries. Compound Ais:

Options :

70819165305, PO

70819165306, | 0O2

70819165307, 1 P304

PbSO,
70819165308

Question Number : 37 Question Id : 70819120050 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR A U Foel SRR FHF F1 e IR 21 € 3R 98 THHI YT B g | A oS HAAH

T T AT AHEAT

Options :

70819165305, O

70819165306, | P92



70819165307, © P304

70819165308. e

Question Number : 38 Question Id : 70819120051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MOZ ?
[M is lanthanoid metal]

Options:
70819165309, Nd

70819165310, 2V

70819165311, T

70819165312, Yb

Question Number : 38 Question Id : 70819120051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafafed d=AmE § | 9 91 MO, T& =341 8 7
[M o= o1 2]

Options :

70819165309, Nd

70819165310, 2V



70819165311, LT

70819165312, Yb

Question Number : 39 Question Id : 70819120052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The presence of ozone in troposphere :
Options :
protects us from the UV radiation

70819165313

70819165314, Protects us from the X-ray radiation

generates phf}tﬂdmmical SmMog,
70819165315.

protects us from greenhouse effect
70819165316.

Question Number : 39 Question Id : 70819120052 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options:
70819165313, T UV fafeoll & geam 7l 21

70819165314, © 10 X —Thor fafeTon | Heeq &l 2 |

70819165315, FFWI THMEMS TH Fel Sca—~1 HIdl el



70819165316, G eltd & HHTd | FT il gl

Question Number : 40 Question Id : 70819120053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I: A mixture of chloroform and aniline can be separated by simple distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165317. Both Statement | and Statement Il are true

70819165318. Both Statement I and Statement Il are false

70819165319. Statement 1 is true but Statement 1l is false

20819165320 Statement 1 is [alse but Statement 11 is lrue

Question Number : 40 Question Id : 70819120053 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T | TR 791 U o THAW ) WER A 9 6w

FIA 11 : el 721 9 F 9w § UFe =1 9oy S ¥ 99 99F 8 al UAeE o

FUAF W A9 F AT I T 2

T FoA| o fo Frferad fewed | 4w 3 T g0

Options :

70819165317, S RAT 1 91 AT ek



20819165318, ST AT 1 T HE 11 ST &

70819165319, a1 1 ¥ T T H 1 A ®

20819165320, FIT | A T W HAT 11 T @

Question Number : 41 Question Id : 70819120054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?
Options :

70819165321 Carius tube is used in the estimation of sulphur in an organic compound.
70819165322, Carius method is used for the estimation of nitrogen in an organic compound.
70819165323 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphnric acid prnduced on oxidation of p]msphoms present in an organic compf}und

70819165324, is precipitated as MgEPEDF by adding magnesia mixture.

Question Number : 41 Question Id : 70819120054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
frefafaa § 9 7 o1 99 3| 72
Options:
20819165321 WP FraTTR ATH H FeH F AFeH F F e Hom Fefl F1 39 1 €|



20819165327, eI 1 FE(TH itk H srher ¥ fow Fsm faf 1 37w e 21

20819165323, Feeial A = Sw e AT § Ae2re sMFer + g F:d 2|

FEF ANE | ST BORE F AR U Iq FORE AR i Jra g

20819165304, T MgoPoO; % ¥9  sméfi % 2|

Question Number : 42 Question Id : 70819120055 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For the given reaction :
CH =CHBr 1. NaNH,
I . ——= (A)
CH, 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options :
(|2H= CH—-NH,

-

CH,
70819165325,

CH,CH,CH,NH,
70819165326. S A= N ol e
70819165327. :

CH,

70819165328.



Question Number : 42 Question Id : 70819120055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& T st F fog A e ?

CH==CHBr ; \.NH,
- - (A)
CH, 2. Red hot iron tube, 873 K [H@; IeTTR)
Options :
CH=CH-NH,
CH,
70819165325.

70819165326, - £

70819165327. :

H,C CH,

CH,
70819165328. :

Question Number : 43 Question Id : 70819120056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,
- - Bl’z , .\:
TR T O1E '} i
UVlight  (hajor product)
monobrominated

CN

What is “A’?



Options :
CH,CHj,4

f: :Br
CN

708191653209.
70819165330,  bBr

70819165331.

70819165332.

Question Number : 43 Question Id : 70819120056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& T st 3 fow A F R ?

CH,CH
2 3 Brz . »

UV light (e )

s HHI-g g

Options:



H,CHj,

oC.

70819165329.
CH,CH;
70819165330.
Br Cl lj
\Cl I/
"CN
70819165331.
CH,CHy
70819165332.

Question Number : 44 Question Id : 70819120057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hydrolysis B

A b
373K (C4HgO)

(C4HgCl)
B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.

Options :
70819165333. 1,1-Dichlorobutane and Butanal

70819165334. 2, 2-Dichlorobutane and Butanal



70819165335, 1,1-Dichlorobutane and 2-Butanone

2 5_Di R i
70819165336, '~ Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(319 Fer) |
A 373K B
(C4HgCly) (C4H0)

B Erseifadel THIA & stfufsran S & T Sfor T TE Sa1 31 A 91 B i qfe=iiae

Options :

20819165333, L1~ SEFIRISIE T [T

70819165334, 22~ STEHCNI=T Qo1 =Pl

| nd
"

= = ‘\_, 3
70819165335. e S

” 7_-\ = = =, =, . -\.-'
70819165336, = iR ami=Jet sl =SerE- Ll

Question Number : 45 Question Id : 70819120058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Identify the major products A and B respectively in the following reactions of phenol :

OH

) CHCly NaOH Br, in CS, @
-
(i) HyO* 273K




Options :

OH OH
Br CHO
and

70819165337
OH OH
@ and @
70819165338, BT CHO

OH OH
Br
and
70819165339. CHO
OH OH
CHO
and

' Br

70819165340

Question Number : 45 Question Id : 70819120058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i =i Fefatad afufEnet ¥ ge St #3991 A 991 B =i ufe=nfy

OH

<)) CHCl; NaOH Br, in CS, . @
(if) H;O " 273 K




Options :

OH OH
Br CHO
GEI

70819165337
OH OH
| | o | : : |
70819165338,  OF CHO
OH OH
Br
a9
70819165339, CHO
OH OH
CHO
1
70819165340,  BF

Question Number : 46 Question Id : 70819120059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding,
Statement 11 :  o-Nitrophenol has high melting due to hydrogen bonding,

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :



70819165341. Both Statement I and Statement 11 are true

70819165342. Both Statement I and Statement 1l are false

70819165343, Statement | is true but Statement 1l is false

70819165344 Statement 1 is [alse but Statement 11 is brue

Question Number : 46 Question Id : 70819120059 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
EiEEEE LR % -
T | : o-TE2HATA 9T H o99iel AR A0 eEared AT-+H[ & HR0 2|
HYA 11 : FATSSH A F FR o-AMCeIEATA = Teri® 359 2|
IYiE weAl & fore Freafafad fasedl § 4 gaifas 3faa s g
Options :

70819165341, 71 HIT 1 TN HKAT I HA 3

20819165347, ST I 1 T e 11 19 &

70819165343, a1 1 HA € T R 11 A ©

20819165344, FO 1 0T @ T HAT UL TA 2

Question Number : 47 Question Id : 70819120060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be proparod h}-‘ ammmml}fsis of oth}-'l chloride. The correct
structure of amine is :

Options :

CH,CH,CH,NHCH,4
70819165345. g T ;

70819165346, B 2CHN —CHCH,

NH —CH,CH,CHj
70819165347. :

CH,CH,NH,
70819165348, - 2 2

Question Number : 47 Question Id : 70819120060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F TH ¥ IEehe Farse AfiE 6 U A 3O F @ S ane e |
HAfFer g1 59 U6 %1 U Farse % THR ST0ed T off dER FHhd 8| T w1 aE G
£

Options :

CH,CH,CH,NHCH,4
70819165345. g ST i

CH.CH,CH-N — CH-CH
70819165346. Gk Ay 2%-Hg

NH —CH,CH,CHj
70819165347. :

CH,CH,NH,
70819165348, - 2 2



Question Number : 48 Question Id : 70819120061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprene ig

Options :

«{»CI—IECH:CI—I—CI—IQ—CHQ CH ]n
70819165349, CN
r:|21

L cH, C—CH—CH2+H
70819165350.
% HN"‘H N—-E e NHCHE +
B )
xhhhf.[\'
NH
70819165351, |
]
[ CH,——CH—-
70819165352. ey

Question Number : 48 Question Id : 70819120061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
AR =1 | T

Options :

70819165349.



70819165350.

x-\.\_ -
NH
70819165351. |
]
l CHE CH Jn
70819165352. CN

Question Number : 49 Question Id : 70819120062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819165353, Vitamin B

Freo i o
70819165354, Vitamin C

Frpo i T
70819165355, Vitamin E

Tt . -
70819165356. Vitamin K



Question Number : 49 Question Id : 70819120062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frefafaa & @ =M @1 faafE = & a9 o1 # foora 3 § Jems da e ?
Options :

70819165353, 132 B

70819165354, 17 C

70819165355, 19<™ 1 E

70819165356, /o1 K

Question Number : 50 Question Id : 70819120063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HESO4, gas X is evolved which turns KECrEO?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options :
X=50.,r Y:{:r E{)
70819165357. 3 2(S0y);

70819165358, 202 Y=Cr0,

}{ kT SD;, Y e {:I'-)O-_s
708191653509. ' i

X . SD"), Y = CI‘-;{S‘D_.ljl:E
70819165360. % 5 :

Question Number : 50 Question Id : 70819120063 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U AR # T 7 H,S0, F T WwA W T X Feper € 7 H,S0, § areida

K,Cr,0, T &1 T& & 1 F A Y § 920 Tl ¢ X TY & 79

Options:

K=SD_”_ Y:{: m
70819165357. 3 15(S04);

70819165358, <~ o202 Y=Cr0,

X = SOE, Y = 'CI'-;OTE
70819165359. ' ERIE

X X SD"),- Y o Cr"!l{S‘D_-I:I:;
70819165360. E 2 :

Chemistry Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 70819120064 Question Type : SA

708191877
4

Online
Mandatory
10

5

20

Yes

1
7081911157

Yes



Correct Marks : 4 Wrong Marks : 0

-

The number of significant figures in 50000.020 %10~ is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819120064 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50000.020 x 10 3 § HedF iH 1 HEA F

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819120065 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v
b)=RT. The value of | P A
VP )7

A certain gas obeys P(V

m

(Integer answer) (Z : compressibility factor)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

is —. Thevalueofxis .



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819120065 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(37 &% T
2) w2y g
RT

U FAfe=a T P(V_ - b) =RT 1 S5 Fefl 21 =
VO ST

(qurie 3 (Z : Feirea o)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819120066 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+B=C+D

(A, H?=80 K] mol~!) the entropy change A S® depends on the temperature T(in K) as
AS59=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneous is K. (Integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819120066 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T T A A + B — C + D (A HO=80 K] mol 1) ¥ fo wid wftdw A SO A
T(KH), A8%=2T (K~ 'mol ) w Foft ol ¥ | =g7em a1 o W rfiaferen wara.3fem 21 <ot

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120067 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 30, at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The
non-volatile sr}f’ute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) | r’(h] ,0)=24 mmof Hg | is x% 1072 mm of Hg,

the value of xis ___ (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120067 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



SOy F 24 mL 1 298 K 31 1 atm W 0.1 M NaOH farc % 100 mL # wateet fot 7
I AT faer 1 36 g T # A forn | ferd F A9 9| @ e (e
) xx10 2mm Hg 81 x®WAAE | (qUis W)

i PE[ 1,O)= 24 mmof Hg ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819120068 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, ) = A( )1 2B|[g is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole and the equilibrium pressure was 1.9 atm.
The value of Kp is xx 1072 The value of xis __ . (Integer answer)

[R=0.08206 dm?atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120068 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T A S T A ABy ) = Ay + 2By 27°C R U 25 T F ek A Fl W 2
AB, 1 JRTHH I 1 HIet o | WP 3 1.9 atm 11 K F1 .2 X 10 2FFARE |

(quiish )

[R=0.08206 dm’atm K~ mol ]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120069 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following reaction
MnOjy +8H™* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnOy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120069 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
refafan sfufF W = i
ﬂlnn.}q t8H* +5¢ " — Mn*2+4H,0, =151V,
MnO; ¥ 5 el #1 o 3 ¥ foe v e o e d
(o 3)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120070 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k| mol 1. T# energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in k] is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819120070 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T AfafE X - Y F o afmm S5 30 K mol 1 B1 stfufE # afe s wfted
AE, - 20 k] & 1 fadia aifufran % fom afpm s k68 | (i Sw)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 58 Question Id : 70819120071 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

312 g of oxygen is adsorbed on 1.2 g of plafinum metal. The volume of oxygen adsorbed per
gram of the adsorbentat 1 atm and 300K inLis

[R=0.0821 L atm K~! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120071 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.2 g ifeT™ TG, 312 g SHISH 1 A T o €1 Wi ww st st
SRS 1 AT, 1atm TM0K W LHE |
[R=0.0821 L atm K~ mol 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120072 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120072 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TEFME AFA ) 4R G AfulEa # W IEH s9E °H Cr # A geme
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120073 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),,] is _

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 60 Question Id : 70819120073 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Mn,(CO),,] ¥ Fga4 CO ferei (ligands) i &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

1

Mathematics Section A

SectionId :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819120074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

708191878
5

Online
Mandatory
20

20

80

Yes

1
7081911158

Yes



o > oL (2

If 3 and ; are perpendicular, then a X la X la X la x bJH is equal to :

Options :

P

70819165371.

4

‘—}—>

al b

N |-

70819165372.

‘i
70819165373.|a‘ o

—

70819165374, @ < b

Question Number : 61 Question Id : 70819120074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :

S

70819165371.

4

‘—}—}

al b

N |-

70819165372.

e
70819165373.|a‘ o

—

70819165374, @ * b

Question Number : 62 Question Id : 70819120075 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5,35),(7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of his:

Options :
70819165375, °

70819165376.

70819165377.

70819165378.

Question Number : 62 Question Id : 70819120075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At (1, 5,35), (7,5,5), (1, A, 7) T (20, 1, 2) THaei™ €, 9 A F [ T HE 61 JT ®

Options :

70819165375. °

70819165376,

70819165377.

70819165378.



Question Number : 63 Question Id : 70819120076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2Zx+y=6is a:
Options :

70819165379, Kight angled triangle

70819165380, 1sosceles triangle

70819165381, Equilateral triangle

70819165382, None of the above

Question Number : 63 Question Id : 70819120076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

q @ x -y=0, x 1-2y=3?r%4121:+y=6?ﬂ13ﬂ'—?lﬁ?‘:3:l z
Options:

70819165379, TP WA BT @

70819165380, ¥ THIGAIE A+ &

70819165381, O THATE Frys &

70819165382, T74 H #Is &l €



Question Number : 64 Question Id : 70819120077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
la+D@+2) ad
The value of |(a + 2)(a+ 3) a
(a+ 3)(a+4) a-

1 is:

= W

Options :

70819165383, (2 T D@ +2)(a+3)

70819165384, (@ T2)(@+3)(a+4)

70819165385, — 2

70819165386 U

Question Number : 64 Question Id : 70819120077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

l@a+1)a+2) a+2 1
(@a+2)(a+3) a+3 1lFEHAT:
(a+3)a+4) a+4 1
Options :

70819165383, (@ T D@ +2)(@+3)
70819165384, (@ t2)(@+3)(a+4d)

70819165385, — 2

70819165386, U



Question Number : 65 Question Id : 70819120078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased h}-‘

2
'\Ia_
20% in 2 hours. If the population of bacteria is 2000 after 7 hours, then [ | 18
IOBH [_g h \ IOBH I
equal to :
Options :

70819165387, 2

.

70819165388.

o

70819165389.

70819165390, 16

Question Number : 65 Question Id : 70819120078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U e A s F1 3 F @ A T F g € 9 I § g9 =0 R

e m

ST F1 HEm 1000 F1 2 =13 F S # wen § 20% # 35 & 2 qfal @
0Be |5

2
\ L

ElTIER%

i
y o y . & = I'(
YA A S 2000 2, @ l —
k_IOBEEJ

Options:

70819165387, 2

e

70819165388.

= )

708191653809.



70819165390, 16

Question Number : 66 Question Id : 70819120079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
D\yﬁ X

Q
Options :

70819165391, 242
70819165392, 2433

70819165393, 26+2

[
w1

70819165394, 26V

Question Number : 66 Question Id : 70819120079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9 few 99 &, WM OA =1 5%, OB=13 THE @41 PQ LOB | @ faq PQB #1 &oet (i
TR W)

K

o

W

Options :

24 ﬁ

I

70819165391
70819165392, 2433

70819165393, 26v2

I3
2‘\.
=)

70819165394,

Question Number : 67 Question Id : 70819120080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[V3sin(T +h) — cos(T +h)]
lim 2 l — } . }'> is :
h—0 | J3h(y3cosh — sinh) ]

The value of

Options:

0| M

70819165395.

'..-JIA:-'

70819165396.

iy

70819165397. V3



W | 0o

70819165398.

Question Number : 67 Question Id : 70819120080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[ J3sin 1% + h ] L‘L‘lh{% [ h}l i

lim 24 _ A K b
h—0 | J3 hi3cosh —sinh) ]

Options :

| R

70819165395.

70819165396.

2

70819165397, V3

3
70819165398, 4

Question Number : 68 Question Id : 70819120081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 5x% + 18x% ~ 19x occurs at the point :

3| =

Options :

70819165399, (0. 0)

L
70819165400. (2 2)



F A
3, 5|
70819165401. S

70819165402, (2 9)

Question Number : 68 Question Id : 70819120081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-]- - - L] - ) mE W - v o)
aF y = —x' —5x° +18x” — 19x &Y srfershem waur e # § fobm fig W R 7

Options:

70819165399, (0. 0)

2o
70819165400. (2 2)

. i
gt
2

r

70819165401. d

70819165402, (2 9)

Question Number : 69 Question Id : 70819120082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _I: CDS_JL: dx is:

a 143
Options :

LU
70819165403, 2

2

70819165404.



o

70819165405, *

70819165406, ™

Question Number : 69 Question Id : 70819120082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 3
[ CO8 ¥ LxwIamE:
L

1+3*

Options :

e

70819165403.

I
=

70819165404, 2

!

70819165405.

70819165406.

Question Number : 70 Question Id : 70819120083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819165407. 42



70819165408, 2

70819165409, 77

70819165410. 52

Question Number : 70 Question Id : 70819120083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el S 1, 2 991 3 % WA W U AT F quie], T o 1 e 10 7, # wen €
Options :

70819165407, 42

70819165408, 2

70819165409, 77

70819165410, 52

Question Number : 71 Question Id : 70819120084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 , \10

The maximum value of the term independent of “t" in the expansion of | tx®

\ J
where xe (0, 1) is:
Options:

10!

70819165411, V3(5)°



2.10!
x4
70819165412, V33!

70819165413, >O)°

10!
2
70819165414. 33!

Question Number : 71 Question Id : 70819120084 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ 1 410
(1 —x)10
t

, 5@l xe (0,1) %, % YR H, ‘¢ | s 98 F Ay qH ¢ ;
Options :

101
70819165411, V3(5)°

2.10!
T
70819165412, V303!

- 2.10!
70819165413, >O)°

101
|
70819165414, ')

-

Question Number : 72 Question Id

: 70819120085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :

i I A
70819165415, ° (& ¥) [T Hym=4]

70819165416, >~ (& ¥)

70819165417, >~ (& ¥)

e . 0 2='
20819165418, o= ® V) | #+y*= 2}

Question Number : 72 Question Id : 70819120085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T R={(P, Q) | P AN Q, Jeifeig ¥ WHM gl W ¥} UF W | il (1, — 1) F1 godal-a = 8
ek koY

Options :

L LI
70819165415, ° (& ¥) [T HyT=4)

70819165416, =~ & ¥)

70819165417, >~ (& ¥)

20819165418, 5= 1x W) | P +y?*= 2}

Question Number : 73 Question Id : 70819120086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
chanaofAzﬁthmmmepmﬁmbnumhxofmmhnmutmix

Options :

70819165419, 1

70819165420, 4

70819165421, ©

70819165422, =

Question Number : 73 Question Id : 70819120086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AA A UF 2 Fife 1 i e &, o ooa oies 81 afe A2 % fasol & araaal &1 dmmea
1 %, T TH SR 1 Hefad 9 €

Options:

70819165419, !

70819165420, 4

70819165421, ©

70819165422, 12

Question Number : 74 Question Id : 70819120087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f be any function defined on R and let it satisfy the condition :

f)=fy) = |-y v(x.yeR
If f{0) = 1, then :
Options :
70819165423, /() >0, 7xe R

20819165424, J () <0, 7xe R

70819165425, /(1) =0, 7xe R

70819165426, / ¥) can take any value in R

Question Number : 74 Question Id : 70819120087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HAIR R TR 7§ WeM (8 T 5 TR | flx) - fiy) | = | @y, ¥ (x, y) & R F1 6T F@ 2
A [0) =13, T :

Options :

20819165423, /(¥ >0, 7 xe R

70819165424, /(X)) <0, ¥x e R

70819165425, J(¥) =0, 7xe R

20819165426, f(@), R ¥ FIE +ff 7 &1 el &

Question Number : 75 Question Id : 70819120088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options:

B
70819165427, 2

1
70819165428, 2

70819165429.

15
70819165430, 2"

Question Number : 75 Question Id : 70819120088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e frore s 1 v ffvem an veren s €1 afs 7 o o 1 wiae, 9 foa o 1 miw

& T, T 2 T o i wifaewa

Options :

8
70819165427, 2

1
70819165428, 2

70819165429.

70819165430. <



Question Number : 76 Question Id : 70819120089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1
. sin X cos X tan 1 :
If = = L 0 <x <1, then the value of C05| is :
a b C \a+b)/

b

Options :

-

70819165431, 1 ¥~

-

11—y
70819165432, VY

70819165433.

2y
70819165434.

Question Number : 76 Question Id : 70819120089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =] e | o | r
~ SN X 08 X tan "1 &
ql= — = "Ir;[]{x{lrﬂ CDS|

a b C . a

C ) .
| b}|3ﬂ'qFl%:

Options:

70819165431, 1 ¥~

-

ly‘
70819165432, VY

70819165433.



[

2y
70819165434.

Question Number : 77 Question Id : 70819120090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; : Gt . ; o 29
In an increasing geometric series, the sum of the second and the sixth term is — and the

product of the third and fifth term is 25. Then, the sum of 4th gth and 8th terms is equal to :

Options :

-2
=

70819165435.

(]

70819165436, 0

70819165437, -

]

70819165438, 39

Question Number : 77 Question Id : 70819120090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ = L LY, = = iy = ?_,5 o) o) [ Y, o o)
T T TR AT H, T T TS Wl AN - § AR AA T Tl H IR 25,
=Y, TS T A T F A § -
Options:

70819165435, 26

70819165436, 0



70819165437, 22

70819165438, 39

Question Number : 78 Question Id : 70819120091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 22 )
TR . : . Wsanes 15 equal to :
P 9 3 3

The sum of the infinite series 1 % I
Options :
9
70819165439, 4

n
70819165440, 4

13

70819165441, 4

15
70819165442, 4

Question Number : 78 Question Id : 70819120091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< w i e g 48 ~
FATAM L+ = + 5 + g + g + o + o FTAT A
3 a3 a3
Options :
k.
70819165439, 4

70819165440.



13

70819165441, 4

15
70819165442, 4

Question Number : 79 Question Id : 70819120092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes

P; : 3x+15y+21z=9,

I"2 :x—3y—z=>5, and

Py : 2x+10y +14z=
Then, which one of the following is true ?
Options :

70819165443. P, and P, are parallel.

70819165444, P, and P, are parallel.

20819165445, 12 P2 and P; all are parallel.

70819165446, P'2 and P'3 are paraIL:-L

Question Number : 79 Question Id : 70819120092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Py : 3x+15y+21z=9,
Ps:x—3y—z=>0 G
Py : 2x+10y +14z=5
=1 foam wifau | o4, = 9 9 51 W g 22
Options :

70819165443. R g

70819165444, L1 TN Py FHIR &

70819165445, L1- P2 T P; AFT HHIR g

70819165446, P2 T P THIT &

Question Number : 80 Question Id : 70819120093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o/

The value of Y. | e bl dx, where [ x] is the greatest integer < x, is :
n=1 n_1

Options :

70819165447, 100(1—¢)

70819165448, 100(1 +e)

70819165449, 100e

70819165450, 100(e —1)

Question Number : 80 Question Id : 70819120093 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n . ] . .
N[ ey, 5@ [x] e Ui < xF, WARE
n=1 n;1

Options :

70819165447, 100(1 ¢

70819165448, 100(1+e)

70819165449, 100¢

70819165450, 100(e —1)
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Question Number : 81 Question Id : 70819120094 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The difference between degree and order of a differential equation that represents the famﬂ}-'

7 : 2 & a | i
of curves given by ¥~ = ﬂl eyl Ois .

\ =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819120094 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—
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2 a ~ 5 [ n = . )
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*—2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819120095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T 3~ 202+ 2x—1=0 F Teii F 1627 =6 F1 AT F
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120096 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|-2]is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120096 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T y=|x—1|-2gm R w T e |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819120097 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dy

If y=y(x) is the solution of the equation OHJ"HCOSL,'E ket

cosx = cosx, (0)=0; then

(7Y B (7 b Pl
14 ylkgj | ?quj | x—EyIIJ isequal o .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120097 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

afs gHiFIm SV cnsy% Fe'™ cosx = cosx, y(0)=0 F1 T y=y(x) 8,

| (7Y B (1) 1 (=) )
14 yl\E’J | ?ly’l‘;)‘ | 'VI—E‘I}’{IJ ELE % _
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120098 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120098 Question Type : SA
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THHT log,(x—1)=log,(x—3) FEA R HEN T
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Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120099 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosx =k + 1 has a solution,
ko Rag.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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‘k’?‘{"ﬁlﬂfmﬁﬁi e fou |9 3siny i--—lcosx=k+-1$l@%ﬁ%, ke RE & H&W
E
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5to 5.001
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Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes through the point (4, -2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

(A} 4
|— — 4 isequalto .
iy, 11

Response Type : Numeric

Evaluation Required For SA : Yes
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o 4 (4, -2, 2) ¥ T 9 9 UF WEad W UF 65 (A, 2, 1) 81 3 9 gvew, fagel

',h\2

4\ .
4T

(-2, -21,29) T (=1, ~ 16, 28) F foemt et Y 35 e &, A | | -
\ 4

|
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5 to 5.001
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™

The value of the integral _[ sin2y |dx is
0
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5 to 5.001
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T [smzx dx 1 99 W= &
0
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5 to 5.001
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If \3(cos”x) = (3 ~ 1)cosx + 1, the number of solutions of the given equation when

1B o5

0, —
i
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Evaluation Required For SA: Yes
Show Word Count : Yes
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5 to 5.001
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THF 3(cos®x) = (3 = 1)cosx + 1, T x & h ;} FE mEenE
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5 to 5.001

Question Number : 90 Question Id : 70819120103 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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o,
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=an‘
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5 to 5.001
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